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Part A

Section Id : 686340387
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
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Question Id : 68634019544 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634019545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077201. 1
68634077202. 2
68634077203. 3
68634077204. 4

Question Number : 2 Question Id : 68634019546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634019547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634077211. 3
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Question Number : 4 Question Id : 68634019548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634019549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634077219. 3
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Question Id : 68634019544 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634019545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 68634019546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 68634019547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634019548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634019549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U &1 ufde o UHT 9Rd o

R IAY B I8 R Ieq] Hiod 8

Y@ifard dfdd T Safd=] & 1 NI § -

1. U9 3 B aoid I HidaH Hiv

. Tqg ] Uefi] B TRE T BI Tl J ofell &l
YA PIE BB

4. AT IRAPTRE?

Options :

68634077217. 1
68634077218. 2
68634077219. 3
68634077220. 4

| ]

Lad

Sub-Section Number : 2
Sub-Section Id : 686340645
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634019550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634019552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634019552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634019553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634019553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634019555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634019555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634019557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634019557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634019564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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DY :

O B XYZ B A YT T3 9itd $R &1 gt Wil PR-[GcRep o1 5= @l SaRi 4 gl
SuiFarel 5 ERE uRfRUTTl & dox Rerd B 3R g &1 99T 9¢MH &1 77 31|

HriaTe! HfchaT :
(i) PR-[AaRS 1 UKl 1S & Geol a1 & fou gfdby Tl &1 S 3k o - el &1 9w agi- =1fgu|
(i) PR faRS B BRI DI -2 g7 LT ST I1feT

1. %44 (i) 8T

2. had (i) BN

3.9 (i) ARA T i) gHm

4.3, () 3R (i) B

Options :

68634077277. 1
68634077278. 2
68634077279. 3
68634077280. 4

Question Number : 20 Question Id : 68634019564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U9 99dcd & a1 ol 1opd1 Uy fGU 70 €| 911U T aade & forar 747 8% e 9 © | 90 & 3R X
{ola eiifere fop 1 =1 fopam gy byl 91 & [daR S R ST 3T

DY :

O B XYZ B A YT T3 9itd $R &1 gt Wil PR-[GcRep o1 5= @l SaRi 4 gl
SuiFarel 5 ERE uRfRUTTl & dox Rerd B 3R g &1 99T 9¢MH &1 77 31|

HriaTe! HfchaT :
(i) PR-[AaRS 1 UKl 1S & Geol a1 & fou gfdby Tl &1 S 3k o - el &1 9w agi- =1fgu|
(i) PR faRS B BRI DI -2 g7 LT ST I1feT

1. %44 (i) 8T

2. had (i) BN

3.9 (i) ARA T i) gHm

4.3, () 3R (i) B

Options :

68634077277. 1
68634077278. 2
68634077279. 3
68634077280. 4

Question Number : 21 Question Id : 68634019565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m ¥ Y= 8F aId 5 BAN 6-THS gUNie] BT AT 0 8 | (m+2) I X[ 8H a1 6 HAFTG ETES qoliad]
&1 SHId &1

1. 2n+5)/2

| B

.nt2
3.n+3
4. (2n+9)/2

Options :

68634077281. 1
68634077282. 2
68634077283. 3
68634077284. 4

Question Number : 21 Question Id : 68634019565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

m ¥ Y= 8F aId 5 BAN 6-THS gUNie] BT AT 0 8 | (m+2) I X[ 8H a1 6 HAFTG ETES qoliad]
&1 SHId &1

1. (2n+5)/2

| o]

.nt2

3.n+3

=

2n+9)/2

Options :

68634077281. 1
68634077282. 2
68634077283. 3
68634077284. 4

Question Number : 22 Question Id : 68634019566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' g & 31&R1 & UH foha Weg &0 o1 9ahd © ford R g4 faus i ;e gl e

1.576

| )

. 578
3. 580
4. 678

Options :

68634077285.
68634077286.
68634077287.
68634077288.

AW N =

Question Number : 22 Question Id : 68634019566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' g & &R I U fha Ysg €70 off 9o & forH av g0 foun @ e gt 3

1.
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76

wd
]
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]

4, 678



Options :

68634077285. 1
68634077286. 2
68634077287. 3
68634077288. 4

Question Number : 23 Question Id : 68634019567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A SN I 50,000 EUH 25 S 2022 B 12% b dlitiep, TIYR0 &ATS U 38R U] 18 RydmaR 2022
I ST A HYAT IUR b | 1A GRI a1 741 &A1s &1 g

1.22.200

ka2

-
#H
[
%)
h
L]

Options :

68634077289. 1
68634077290. 2
68634077291. 3
68634077292. 4

Question Number : 23 Question Id : 68634019567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST = N ¥ 50,000 T 25 ST 2022 B 12% P e, TR0 &4 9 IUR 710 18 Ramer 2022
DI IF = HYAT SUR IHWT| A gRI f&01 7791 <41 -1 §R1?

1.22.200

Options :

68634077289. 1
68634077290. 2
68634077291. 3
68634077292. 4

Question Number : 24 Question Id : 68634019568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fTfeigd SRemmaif @i ved ®H | T -

o0 w e
2
I

Hid feu U faeredi B ¥ 9el IR &1 994 S

LAWK 6.
2. A, DB, C
3.B.D.A.C
4.C.B.D.A

Options :

68634077293. 1

68634077294. 2

68634077295. 3
68634077296. 4

Question Number : 24 Question Id : 68634019568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fTfeigd SReamaf @i ved ®H | T -

00w e
2
I

i U U [dwedl 1§ ¥ 9ot 3T &1 994 S

1.D.A,B.C.
3.A DB, C
3.B,D.A,C
4.C,B,D.A

Options :

68634077293. 1

68634077294. 2

68634077295. 3
68634077296. 4



Question Number : 25 Question Id : 68634019569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GIEREIEE EREIEIEED

3T 3:4:5 81 3 Tt g SfR U & fismr 9 R € o o

_ 3
UL 4:1, 3:1 3R 5:2 D11 S A1 U1 & 10 FI U 919 U § ST a1 oldl & | 9 U | g9 3R

U1 & oI F BT 3urd gi -

1:4:1
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. 151:48
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st
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|
L]
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el
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Options :

68634077297. 1
68634077298. 2
68634077299. 3
68634077300. 4

Question Number : 25 Question Id : 68634019569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o UTE & ST P i BT 30T 3:4:5 31 3 T g SR U & e 9 1R € e i s
DU 4:1, 3:1 R 52 DI S 11 UEH & W0 $I U 914 U § ST Gar oNdi & | 94 UE H g9 3R

Ot & & &7 391d I -

1.4:1

| o]

.151:48

3

—
[ ]
-]
[ ]
L¥ ]

4.

i
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Options :

68634077297. 1
68634077298. 2
68634077299. 3
68634077300. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Part B: Physical Education
686340388
2
Online
Mandatory
75
75



Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340646
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Ancient Olympic Games were casted for how many days?

1. 13 days

| ]

. 16 days
3. 7 days
4. 5 days

Options :

68634077301. 1
68634077302. 2
68634077303. 3
68634077304. 4

Question Number : 26 Question Id : 68634019570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Saiis Wa fba- a1 d Fad 42

1.13f&

.16 fe=
3.71&3
4.5fe¢q

Options :

68634077301. 1

68634077302. 2

68634077303. 3
68634077304. 4

[ )

Question Number : 27 Question Id : 68634019571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year the All India Council of Sports came into existence. which acted as the liasion between the
Government and the National Federations of various games?

1. 1948

| ]

. 1951
3. 1954
4. 1957

Options :

68634077305. 1
68634077306. 2
68634077307. 3
68634077308. 4

Question Number : 27 Question Id : 68634019571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T YR A uREg S if&id | 3. S fb WRer aul fafi—= Wdf & ayia geridl & dlg
GIREREEIGIES:

1. 1948

4. 1957

Options :

68634077305. 1
68634077306. 2
68634077307. 3
68634077308. 4

Question Number : 28 Question Id : 68634019572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following preferred gladiatorial contests over physical activities in gymnasium?

1. Americans

[

. Greeks
3. Germans

4. Romans

Options :



68634077309. 1
68634077310. 2
68634077311. 3
68634077312. 4

Question Number : 28 Question Id : 68634019572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂgﬁmaﬁﬁwaﬁﬁ%ﬁﬁﬁﬁﬁﬁﬁaﬁw raiveiiga ufaaifirars & adigan <t
S 82

1. RS
A
3. 9HA
4,309

| ]

Options :

68634077309. 1
68634077310. 2
68634077311. 3
68634077312. 4

Question Number : 29 Question Id : 68634019573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Reality 1s determined by an individual's life experiences' The statement refers to which of the following.

1. Idealism
2. Realism
3. Naturalism
4. Pragmatism

Options :

68634077313. 1

68634077314. 2

68634077315.3
68634077316. 4

Question Number : 29 Question Id : 68634019573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"oHfdd & Gilad & SFHT ISP dRdldedl Bl HURU HRd 8 48 BYF HE U 4 fhad Taiid e-
1. 31Eefar
2. gurfarg

3. Upldarg
4. TAGRAG

Options :

68634077313. 1
68634077314. 2
68634077315. 3
68634077316. 4

Question Number : 30 Question Id : 68634019574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Nature of beauty & art' 18 examined under which branch of philosophy?

1. Axiology

| )

. Logic

L]

. Aesthetics

4. Epistemalogy
Options :
68634077317. 1
68634077318. 2

68634077319. 3
68634077320. 4

Question Number : 30 Question Id : 68634019574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hied SR T @1 wefar 53 ot f5g IR & sfavia o ot 82
1. Jeg-Hiign
2. difdhes
3. digdaRd
4. JHE-HIEET

Options :
68634077317. 1



68634077318. 2
68634077319. 3
68634077320. 4

Question Number : 31 Question Id : 68634019575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Branch of philosophy concerned with examining the nature of knowledge is known as :

1. Meta physics
2. Epistemology
3. Logic
4. Axiology

Options :

68634077321. 1

68634077322. 2

68634077323. 3
68634077324. 4

Question Number : 31 Question Id : 68634019575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T B UPid B Sie- § Hafted 33 ST U1 B BEd 6-
1. HeT fibforad
2. JH-HHE
3. dlfdhep

F=s

Options :

68634077321. 1
68634077322. 2
68634077323.3
68634077324. 4

Question Number : 32 Question Id : 68634019576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s not the law of learning?

1. Law of Exercise

| ]

. Law of Effect
3. Law of Reaction

4. Law of Readiness
Options :
68634077325. 1
68634077326. 2

68634077327. 3
68634077328. 4

Question Number : 32 Question Id : 68634019576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P11 1 JreH 1 From e &
1. 3 &1 g
2. W1 &1 HgH
3. Afcifehar 1 fgm

4. AR &1 Fan

Options :

68634077325. 1
68634077326. 2
68634077327. 3
68634077328. 4

Question Number : 33 Question Id : 68634019577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

During Anxiety. experiencing physiological changes associated with high arousal. including increased heart
rate. blood pressure, faster breathing is distinguished as :

1. Somatic Anxiety
2. Trait Anxiety

3. Cognitive Anxiety
4. State Anxiety

Options :
68634077329. 1



68634077330. 2
68634077331.3
68634077332. 4

Question Number : 33 Question Id : 68634019577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I & SR 3 Juol ¥ ol YRS 9iRacH! 1 3FHd 1 fored gad Tid & 9fg. 3o Jaadrd o
9f& T T 1 ot | T S 8, ST ol 8-

4T fdan (dmfees f=a)
. fo=wan e ge &
4, Bfaes Rar (we f&an

—

| ]

[ 5]

Options :

68634077329. 1
68634077330. 2
68634077331.3
68634077332. 4

Question Number : 34 Question Id : 68634019578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Sociology 1s the study of humans social life. groups and societies. It is a dazzling and compelling enterprise.
having as its subject-matter our own behaviour as social beings.” The quotation refers to :

1. Giddens
2. Aristotle
3. Plato

4. Neumeyer

Options :

68634077333. 1
68634077334. 2
68634077335. 3
68634077336. 4

Question Number : 34 Question Id : 68634019578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YIS HHd & ST olia-, T8 d GHI BT AT § | I8 STe-d AR JHIEH 3¢H o
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1. firs=

. 3RE]
3. wiel

4, AR

Options :

68634077333. 1
68634077334. 2
68634077335. 3
68634077336. 4

| S

Question Number : 35 Question Id : 68634019579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is an examples of non material culture?

1. Equipment

| )

. Merchandise
3. Clothmg
4. Values
Options :
68634077337. 1
68634077338. 2

68634077339. 3
68634077340. 4

Question Number : 35 Question Id : 68634019579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= T 9 &1 91 U9 IR Uifde Iepid &1 Jalexvl 52
1. U

2. U



Options :

68634077337. 1
68634077338. 2
68634077339. 3
68634077340. 4

Question Number : 36 Question Id : 68634019580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Tuckman & Jensen. in which stage of a group formation. the group members develop
attachments to each other and to the group.

1. Forming
2. Storming
3. Norming
4. Adjouning
Options :
68634077341. 1
68634077342. 2

68634077343.3
68634077344. 4

Question Number : 36 Question Id : 68634019580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHUA G SEH o SHTHR HHg [HI01 & 58 =01 ¥ 908 & 9a U goi U qul 94g & daddl
faafid @ed §-

1. T8 (BRI
2. YTal (TR
OGS (AR

LFS]

4, 3= (TSSIHM)

Options :

68634077341. 1
68634077342. 2
68634077343. 3
68634077344. 4

Question Number : 37 Question Id : 68634019581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While doing push ups abdominal muscles perform as :

1. Agonists muscle

| ]

. Antagonists muscle
3. Stabilizer
4, Neutralizer

Options :

68634077345. 1

68634077346. 2

68634077347. 3
68634077348. 4

Question Number : 37 Question Id : 68634019581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U130 TR T e & 1Y 59 39 8§ S o ©-
1. TITe Jigel
. Urif=e Aigue
RSC IR
4. TSR

| ]

L5 ]

Options :

68634077345. 1
68634077346. 2
68634077347. 3
68634077348. 4

Question Number : 38 Question Id : 68634019582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following soft tissues connect muscle to bone?
1. Ligaments
2. Muscles
3. Cartilages
4. Tendons

Options :
68634077349. 1



68634077350. 2
68634077351.3
68634077352. 4

Question Number : 38 Question Id : 68634019582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= I 9 & 91 $Hd SHad. U 3 gs1 9 Sedl o7
1. 3fygy
Tt
3. SUIey

| ]

4. HUST

Options :

68634077349. 1
68634077350. 2
68634077351. 3
68634077352. 4

Question Number : 39 Question Id : 68634019583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the Recommended Dictary Allowance (RDA) of protein for an Adult men?

1. 0.6 gm per kg body mass

| ]

. 0.9 gm per kg body mass

5]

. 0.8 gm per kg body mass
4. 2.0 gm per kg body mass

Options :

68634077353. 1
68634077354. 2
68634077355. 3
68634077356. 4

Question Number : 39 Question Id : 68634019583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U YBul & (oY UICHH @1 SFHRING SIER &1 O1E1 1 82
1. 0.6 919 Ufd fratl TR 4R
2. 0.0 ¥ Ufd fail TR 4R
3. 0.8 ¥ Ufd fbail TR 4R
4.2.0 9H Ufd fbeil TR 4R

Options :

68634077353. 1
68634077354. 2
68634077355. 3
68634077356. 4

Question Number : 40 Question Id : 68634019584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which mineral 1s majorly responsible for fluid balance, acid-base balance and nerve transmission in human
body?

1. Potassinm
2. Magnesium
3. Copper

4. Chromium

Options :

68634077357. 1
68634077358. 2
68634077359. 3
68634077360. 4

Question Number : 40 Question Id : 68634019584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077357. 1
68634077358. 2
68634077359. 3
68634077360. 4

Question Number : 41 Question Id : 68634019585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is called as "Tocopherol'.

1. Vitamin-A
2. Vitamin-C
3. Vitamin-E
4. Vitamin-K

Options :

68634077361. 1

68634077362. 2

68634077363. 3
68634077364. 4

Question Number : 41 Question Id : 68634019585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 91 et Sroiftea & =10 T o1 &1l 82
1. fgerfim- A
faefm- ¢
3. fdeifiF-E
4. faefiF-K
Options :
68634077361. 1
68634077362. 2

68634077363. 3
68634077364. 4

| ]

Question Number : 42 Question Id : 68634019586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which macro-nuutrient intake during training session is advisable to be concentrated upon with highest
percentage in daily diet.

1. Fat

2. Protein

3. Vitamins

4. Carbohydrate

Options :

68634077365. 1
68634077366. 2
68634077367. 3
68634077368. 4

Question Number : 42 Question Id : 68634019586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ §8¢ UIY® dcd DI W0 T & SR Wiafea & SMER ¥ it AEnwiiRadr 4 gu=dl & 91y o
& forn ! e e §1

1. 99
RG]
3. fqeri=

4. PIEGIESCH

Options :

68634077365. 1
68634077366. 2
68634077367. 3
68634077368. 4

| ]

Question Number : 43 Question Id : 68634019587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who had developed the interval training method?

1. Gosta Holmer

| ]

. Woldemar Gerschler

3.G. T. Adamson

e

. Ernst Van Aaken



Options :

68634077369. 1
68634077370. 2
68634077371. 3
68634077372. 4

Question Number : 43 Question Id : 68634019587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S fafe] e faofa of 4t 2
1. TTRET §IeR

2. diegHx YR

3. ol ¢1. TsaaH
4. 3% g1 HPH

Options :

68634077369. 1
68634077370. 2
68634077371. 3
68634077372. 4

Question Number : 44 Question Id : 68634019588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the main aim of Isolation exercises?
1. To ensure hypertrophy
2. Strengthen the strongest muscles
3. Addressing Individual strengths
4. Addressing Individual Weakness
Options :
68634077373. 1
68634077374. 2

68634077375.3
68634077376. 4

Question Number : 44 Question Id : 68634019588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uohid ¥ SUIaIH ol & 3% &1 82
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Options :

68634077373. 1
68634077374. 2
68634077375. 3
68634077376. 4

Question Number : 45 Question Id : 68634019589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year the National Anti Doping Agency was established by government of India?

1. 1969

[

. 2004
3. 1960

4. 1980

Options :

68634077377. 1
68634077378. 2
68634077379. 3
68634077380. 4

Question Number : 45 Question Id : 68634019589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg Y HRT TRPR 7 AP Tl S Coidt (1s1) BT 767 fbam

1. 1999

| o]

. 2004
3. 1960

4. 1980

Options :
68634077377. 1



68634077378. 2
68634077379. 3
68634077380. 4

Question Number : 46 Question Id : 68634019590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the property of plane?

1. One Dimensional

| ]

. Two Dimensional
3. Three Dimensional

4. Four Dimensional

Options :

68634077381. 1
68634077382. 2
68634077383. 3
68634077384. 4

Question Number : 46 Question Id : 68634019590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 T ¥ &1 91 Has (W) S0 7
1. U& AT

I ST

3. T STt

4. IR SATHI

| ]

Options :

68634077381. 1
68634077382. 2
68634077383. 3
68634077384. 4

Question Number : 47 Question Id : 68634019591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tumping Jacks, is the combination of which of the following movements?

1. Extension and Adduction

| ]

. Abduection and Adduction
3. Abduction and flexion

4. Flexion and Extension

Options :

68634077385. 1
68634077386. 2
68634077387. 3
68634077388. 4

Question Number : 47 Question Id : 68634019591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 ¥ 9 o1 91, SfER o o il o 9y g2

1. Uag< Y- d UsaeH

2. Ussa¥H d USaNH

3. Uss9Y- d YelaR]-

. TRIGYF @ T 99

Options :

68634077385. 1
68634077386. 2
68634077387. 3
68634077388. 4

FEs

Question Number : 48 Question Id : 68634019592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Newton's first law of motion is also known as -
1. Law of Inertia
2. Law of Momentum

3. Law of Acceleration

4, Law of Reaction

Options :
68634077389. 1
68634077390. 2



68634077391. 3
68634077392. 4

Question Number : 48 Question Id : 68634019592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=& B 11d &1 9yH 78 59 71 9 1 91 95 8-
1. Sigcd @l f-aH

a1 e

3. @0 T HOH

4. faforan &1 |

Options :

68634077389. 1
68634077390. 2
68634077391. 3
68634077392. 4

| S

Question Number : 49 Question Id : 68634019593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following protocols in sequential order to administer first aid in case of any sports injury.

A Rest

B. Protection
C.Ice

D. Elevation

E. Compression

Choose the correct answer from the options given below :

1. AAE.C.B,.D

-

.B.E.D.C.A
3JACE.D.B
4.B.A.C.E.D

Options :

68634077393. 1
68634077394. 2
68634077395. 3
68634077396. 4

Question Number : 49 Question Id : 68634019593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fep i Wa-=ic & @i W FAEfeiad wufte SU=R & ydyH-RIFER &1 hHaR ogafiyd $ifst-

A, HIRIH (Rest)

B. YX& T (Protection)
C. §9% TMT (Ice)

D. 3o (Elevation)
E. &dld (Compression)

it fgu 70 foe el o I I SR &1 I1d DIC:

1.LAECBD

| )

B,E.DC A
3JJALCE.D.B
4.B.A.C.E.D

Options :

68634077393. 1
68634077394. 2
68634077395. 3
68634077396. 4

Question Number : 50 Question Id : 68634019594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following methods of problem solving in research, which is referred as unscientific and least
reliable source of knowledge as research cling to certain beliefs regardless of a lack of supportive evidence.

1. Reference

2. Tenacity

3. Rationalistic

4. Empirical
Options :
68634077397. 1
68634077398. 2

68634077399. 3
68634077400. 4

Question Number : 50 Question Id : 68634019594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SEUT O U GH1eT &) FEfaiad Gl § 9 ueb, S8 SHuUE & 39 O [ 61 U HaglH® SR
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1. He (Reference)

. 2@l (Tenacity)
. ddare (Rationalistic)

RS IIET (Empirical)
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Options :

68634077397. 1
68634077398. 2
68634077399. 3
68634077400. 4

Question Number : 51 Question Id : 68634019595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to APA style. people who are sued in research studies for experiments and surveys are referred as

1. Subjects
2. People
3. Participants

4. Volunteers

Options :

68634077401. 1
68634077402. 2
68634077403. 3
68634077404. 4

Question Number : 51 Question Id : 68634019595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul U WIEd & 3FER - S8 Sl 8 ydi 3R Gdaoi & forg wgad an & HEl A gl
1. geslacy
AT
A
4, WOYdD
Options :
68634077401. 1
68634077402. 2

68634077403. 3
68634077404. 4

| ]

LS ]

Question Number : 52 Question Id : 68634019596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following research techniques generally seeks to gather performance of knowledge data on a
large sample from a population and present results in the form of comparative standards :

1. Interview

2. Normative Survey
3. Questionnaire

4. Review

Options :

68634077405. 1
68634077406. 2
68634077407. 3
68634077408. 4

Question Number : 52 Question Id : 68634019596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 7 9 1 ¥ R T, SMaTel & U 89 T & WakiH U 99 & Sfias! Bl Sl § 3R
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1. &P R
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Options :

68634077405. 1
68634077406. 2
68634077407. 3
68634077408. 4

Question Number : 53 Question Id : 68634019597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following test item is not mvolved in Johnson Basket Ball skill test?

1. Throw for Accuracy

| )

. Jump and Reach

L]

. Lay-up shot
4. Dodging Run
Options :
68634077409. 1
68634077410. 2

68634077411. 3
68634077412. 4

Question Number : 53 Question Id : 68634019597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= Tieu Hal | ¥ ®1F U S0 ae aid HIIa-IRI&0 He § Wi T8l 52
1. FETEar & BT (U BR T
2. S0 UUs ¥

3. @-3U e
4. ST A

Options :

68634077409. 1
68634077410. 2
68634077411. 3
68634077412. 4

Question Number : 54 Question Id : 68634019598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 18 NOT a type of Reliability?

1. Equivalence

| ]

. Split half

L]

. Interclass
4. Content
Options :
68634077413. 1
68634077414. 2

68634077415.3
68634077416. 4

Question Number : 54 Question Id : 68634019598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 5 3 319 91 favae-aar &1 veR 8l 39
1. S
2. 3¢y
3. Jicdeig

e

Options :

68634077413. 1
68634077414. 2
68634077415. 3
68634077416. 4

Question Number : 55 Question Id : 68634019599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of evaluating the degree to which a test measures the factors for which it was designed 1s defined
as :

1. Vahdity

[ ]

Reliability

L¥ ]

. Objectivity

s

. Subjectivity

Options :



68634077417. 1
68634077418. 2
68634077419. 3
68634077420. 4

Question Number : 55 Question Id : 68634019599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 TS0 &1 i S &1 Wieh T forhd 70 Tieful 39 SRe| &1 719 § o o 59 fSomgH faan
a1 o1, forg »u B ol fear mar &

1. dear
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Options :

68634077417. 1
68634077418. 2
68634077419. 3
68634077420. 4

Question Number : 56 Question Id : 68634019600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The school intramural program, effectively serves as an outstanding ground for

1. Student Recreation
2. Skill Development
3. Basic Instructional work
4. Testing Skill proficiency

Options :

68634077421. 1

68634077422. 2

68634077423.3
68634077424. 4

Question Number : 56 Question Id : 68634019600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077421. 1
68634077422. 2
68634077423. 3
68634077424. 4

Question Number : 57 Question Id : 68634019601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many rounds will be played if 6 teams are participating in a league tournament?

i

L]

b2
[

4.9

Options :

68634077425. 1
68634077426. 2
68634077427. 3
68634077428. 4

Question Number : 57 Question Id : 68634019601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl U ol gAlHe H 6 CIH HAT T X5l 8. A SS9 DI ol W =l gl
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Lh
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4.9

Options :
68634077425 1



68634077426. 2
68634077427. 3
68634077428. 4

Question Number : 58 Question Id : 68634019602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is the objective of extramural competitions.
1. Improves physical efficiency of all students
2. Provides outlet to instinctive tendencies of aggressiveness and fear
3. To reach the highest level of performance, in the higher level of competition
4. To act as an instrument of talent selection and grooming
Options :
68634077429. 1
68634077430. 2

68634077431. 3
68634077432. 4

Question Number : 58 Question Id : 68634019602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & 9 19 1 918 YR uiaaiiar &1 358g 82
1. it foenidfal &t IR amrar & gUR
2. JTPTASGAI 3R T T TapTd UGl &l ST3eae UaH Hal 5|
3. T TR B Wadifar & YeRH $1 I=Id9 ¥R do Ggal

A4, YiaHT 99 9 HaR- & SUDH & 59 § H1d HAT

Options :

68634077429. 1
68634077430. 2
68634077431. 3
68634077432. 4

Question Number : 59 Question Id : 68634019603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which international athlete was conferred with India's highest sporting honor. "The Major Dhyan Chand Khel

Ratna Award" in 20227

1. Neeraj Chopra

2. Ravi Kumar Dahiya
3. Lakshay Sen

4. Sharath Kamal

Options :

68634077433. 1
68634077434. 2
68634077435. 3
68634077436. 4

Question Number : 59 Question Id : 68634019603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy 2022 H 9 SiRIPIY RATS] &1 YRd H S=ad Wdl 99 ToR A4g 9a el TS’ §RI G-
fepar T 2

1. RS ST

[t

2. JfapaR gfgam

3. @I

4. MY HHA

Options :

68634077433. 1
68634077434. 2
68634077435.3
68634077436. 4

Question Number : 60 Question Id : 68634019604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 2026 Asian Games. also known as the "XX Asiad' will be hosted by which city/cities?

1. Aichi & Nagoya

| ]

. Doha

3. Riyadh

s

. Jakarta - Palembang



Options :

68634077437. 1
68634077438. 2
68634077439. 3
68634077440. 4

Question Number : 60 Question Id : 68634019604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2026 TR 9. o, xx tRurs & 51 oirar &, & SoaE! 69 weveg’ gRI & o

1. TR 3R A
2. 38T
3. Ty
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Options :

68634077437. 1

68634077438. 2

68634077439. 3
68634077440. 4

Question Number : 61 Question Id : 68634019605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an uninterrupted match of 50 overs the first 10 overs of an inning will be a mandatory power play. During
this power play ficlders are allowed outside the 30 yard circle.

1.4

4.6

Options :

68634077441. 1
68634077442. 2
68634077443. 3
68634077444. 4

Question Number : 61 Question Id : 68634019605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



50 3aRl & SEd 9o |, 3H7T S Ugd 10 3iiar § gra-w 3ifHard 39 9 8171 59 9IaR-© & gRH
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[
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4.6

Options :

68634077441. 1
68634077442. 2
68634077443. 3
68634077444. 4

Question Number : 62 Question Id : 68634019606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Antenna of fibre glass or similar material 1s fastened at outer edge of each side band of net in Volley Ball.
It should have

1. A length of 2.0 mtrs and diameter of 10 nun

| ]

. A length of 1.5 mtrs and diameter of § mm
3. Alength of 1.20 mtrs and diameter of 12 mm
4. A length of 1.80 mtrs and diameter of 10 mm

Options :

68634077445. 1
68634077446. 2
68634077447. 3
68634077448. 4

Question Number : 62 Question Id : 68634019606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077445. 1
68634077446. 2
68634077447. 3
68634077448. 4

Question Number : 63 Question Id : 68634019607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which state the first National Sports University was established?

1. Madhya Pradesh

[

. Gujarat
3. Manipur
4. Delhi
Options :
68634077449. 1
68634077450. 2

68634077451.3
68634077452. 4

Question Number : 63 Question Id : 68634019607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYH P G faRafderer ot R SF 9 790 1§52
1. AW

3. HigR
1. faeett

Options :



68634077449. 1
68634077450. 2
68634077451. 3
68634077452. 4

Question Number : 64 Question Id : 68634019608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SNIPES merged with sports authority of India in -

1.1984

| ]

. 1986
3. 1987

4, 1988

Options :

68634077453. 1
68634077454. 2
68634077455. 3
68634077456. 4

Question Number : 64 Question Id : 68634019608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR W WIS o § U9.04. 3115, 41 5.0, (SNIPES) & faag ay o ga|

1.1984

| )

. 1986
3. 1987
4. 1988

Options :

68634077453. 1
68634077454. 2
68634077455. 3
68634077456. 4

Question Number : 65 Question Id : 68634019609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many executive council members are elected in the Indian Olympic Association?

1. 10

b
[ a]

Options :

68634077457. 1
68634077458. 2
68634077459. 3
68634077460. 4

Question Number : 65 Question Id : 68634019609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR i J4 &t el ukyg H foa wew faffd fey o 82

1.10

| ]
2]

3.6
4.4

Options :

68634077457. 1
68634077458. 2
68634077459. 3
68634077460. 4

Question Number : 66 Question Id : 68634019610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Athens differed sharply from Sparta. Athenions focused towards all-round development of boys
while Spartan focused on military conquests.

Reasons R : In Athens. boys attended palaestra to train in wrestling, boxing. jumping and attended music
school to learn arthmaties, literature and music. Wherever sparten boys & girls focused on physical prowess
will very less regard to intellectual development

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634077461. 1
68634077462. 2
68634077463. 3
68634077464. 4

Question Number : 66 Question Id : 68634019610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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STUHYT 3 ' : U, el ¥ faepd o 41 UHT-1 dsd! & waniiv [dem & SR $isa ¥ Said
e H-[ao B 3R bi-5d U1

PR 'F : VU O, TSb PRl alamT, SO & UiRiiga giH (o srare uv & gd ¥ SR i, Anfed
3R Tfta = & fou it faemeal & ynT od 91 Jafe Wiy a8 d asihdl IRING S19d IR,
dife® fdPr i e o1 &H <d 41

SWRIgd $UA & Hau §. 1= fAu v fdwedl ¥ 9e] IR &1 919 DI
1.'30" 3R '@ GIHI Ugl © U1 @' '3 B Yol A 5|
2.3 3R ' I WEl § IR ‘P, '3 I Wl AT ol ©
3.9 T8l & g P TAd o
4.3 T § I P el §
Options :
68634077461. 1

68634077462. 2
68634077463. 3



68634077464. 4

Question Number : 67 Question Id : 68634019611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R

Assertion A : Nearly every element of sport has sociological significance.

Reasons R : Sports participation provides health benefits, historical continuity. gain insight on racism. sexism.
labour, struggles. inequality.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634077465. 1
68634077466. 2
68634077467. 3
68634077468. 4

Question Number : 67 Question Id : 68634019611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 2 Py fau U &: e ST o I EIRT PR 'F HEUH

SfHFHYT 30 ' - T & T TR Id DI THI0S Jecd o |
PROT P : Tal & YT &1 Wy ATy, Ufaeae o gyt Tiaare, foimye. 49, 99y, el i
3icia® yeH ol gl
SWRIad Py & Yol 1, 12 fdu 7y fdeedl o 9 91 IR @1 919 S
1. 30" 3R & ST Tel & aUT '@, '3 DI Yol A=A 5 |
3 3R ' ST Fel @ RGP, '3 DI Tl oI el g
3.9 URl e O '@ Tad © |

2

4.3 7T § U P Fel ol

Options :
68634077465. 1



68634077466. 2
68634077467. 3
68634077468. 4

Question Number : 68 Question Id : 68634019612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as Reason R
Assertion A : Fat 13 an essential nutrient and an important energy source.

Reasons R : Humans need some fat in their diet because fats are carriers of vitamins A. D. E and K.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A is true but R 1s not false
4. A 1s not false but R 1s true

Options :

68634077469. 1

68634077470. 2

68634077471. 3
68634077472. 4

Question Number : 68 Question Id : 68634019612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I gl 2 [T T §: Ugdl SITHUSY '3 § g3 SR 'S’ & =Y 4 g |

STUSYT 30" : a9 U YW U dcd @ Headqul Sl Hid g
BRON D' : AT P AT IS H P& T ST SMARTHI Bl § 1 a1 fGeT@T A, D. E JUTK Bl
%2@%@ﬁﬁ.ﬁﬁnwﬁﬂ@ﬁmﬁwaﬁm:
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3.9 Bl & Y P T o

| B}

4. 31" 07 & U " el 5l

Options :
68634077469. 1
68634077470. 2



68634077471.3
68634077472. 4

Question Number : 69 Question Id : 68634019613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Combining aerobic endurance with strength training during the competition phase may seriously
compromise the development of maximal strength and power.

Reasons R : The claim is that strength training is incompatible with long-distance aerobic training because
tast-twitch fibers may adapt to behave like slow-twitch fibers

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 not the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634077473. 1
68634077474. 2
68634077475. 3
68634077476. 4

Question Number : 69 Question Id : 68634019613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=2 & Ty fou T & vee JfHE YT 191 T GEI BRI 'F FEIH

HFUSYT 131" : UGG =R (o) & SR Wifde Fe-1emdl IR Wfda Hi1&w o1 7a, sidan
[fekT 3R d1ed & faer | MR ToEiidl 8l 96 g

ST ;U] aId1 & b, Tall gl ob URITaiep UTI&f0T, ik UIRIEul o 1Y ST 6. i BRe-lcad
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SWRIad PUl & Hay §, A1 f4u ¢ fdsedl U Tgt ST &1 910 SIT:

13" 3R " SHI FE1 S aYl P, 137 B Gl WA |
3 3R ' S Fel © IRg '@, '3 Pl HE R 7o o
3.9 el & IR P T 6

| S

4,730 TS § g '@ 951 6 |

Options :
68634077473. 1
68634077474. 2



68634077475.3
68634077476. 4

Question Number : 70 Question Id : 68634019614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The objectivity of test means that a test when applied by different testers should give almost
same results.

Reasons R : During testing when multiple testers are engaged. its essential to train the testers on similar
testing protocols before the test begins.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

-J

. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

686340774717. 1
68634077478. 2
68634077479. 3
68634077480. 4

Question Number : 70 Question Id : 68634019614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634077477. 1
68634077478. 2



68634077479. 3
68634077480. 4

Question Number : 71 Question Id : 68634019615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Planning involves setting a course of action for the sports organization.

Reasons R : The sports manager must be ready to adjust or change the organizational plans to make them
more appropriate.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A

J

. Both A and R are true but R is not the correct explanation of A
3. A is true but R is not false

4. A is false but R is true

Options :

68634077481. 1
68634077482. 2
68634077483. 3
68634077484. 4

Question Number : 71 Question Id : 68634019615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= <1 Y= fou TTE §: vea SifUwye (31) 9 ¥R PRI (@) F I H 8
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Options :

68634077481. 1
68634077482. 2
68634077483. 3
68634077484. 4



Question Number : 72 Question Id : 68634019616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The Common Wealth Games are the only games which share a common language which has led
the CWG being known as 'Friendly Games'.

Reasons R : The objective behind the establishment of the CWG included mamtaining the bonds between the
states & territories of the British Empire.

In the light of the above statements. choose the mosr appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634077485. 1
68634077486. 2
68634077487. 3
68634077488. 4

Question Number : 72 Question Id : 68634019616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077485. 1
68634077486. 2
68634077487. 3
68634077488. 4



Question Number : 73 Question Id : 68634019617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order. which were added in Ancient Olympic Games.

A. Boxing

B. Pancration

C. Stade Race

D. Race in Armar
E. Chariot Race

Choose the correct answer from the options given below :

1. C,A.B.D.E

| ]

B ASH T
3.CCD.B.AE
4. C.B.E.D.A

Options :

68634077489. 1
68634077490. 2
68634077491. 3
68634077492. 4

Question Number : 73 Question Id : 68634019617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Gt | FHefaiad afaaifiarsi o i @31 @ 9gd §U HH H oIdi&yd Bife:

A. SifqT
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[ )

SE. BLACE.D
3.C.D.B.A.E
4. C.,B.E.D.A
Options :

68634077489. 1
68634077490. 2



68634077491. 3
68634077492. 4

Question Number : 74 Question Id : 68634019618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With special reference to O.C.E.AN. (Traits of Big 5 Theory) arrange the behavior for low score in a
sequential order.

A. Reserve. Cautious

B. Not very imaginative. Dislike change
C. Irritable. Rude

D. Disorganized, Careless

E. Calm, Secure

Choose the correct answer from the options given below :

1. DB, CAE
2B D ACE
3B C DB A
4. A E C.B,D

Options :

68634077493. 1

68634077494. 2

68634077495. 3
68634077496. 4

Question Number : 74 Question Id : 68634019618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 2. U . (9w 5 AR &1 [92vard) 9 Seiia. SaeR & JAad 8id (SPR) S PHIER daied
I ” 1:
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D. HIfSd. ATURAE

E. QIid. Rl
=i f4U U fasedl § ¥ el 3R &1 9094 Bifoie:

1.D.B,C.AE

2B. DA CE
3.3BE.C DB A
4. A E.C.B.D

Options :

68634077493. 1
68634077494. 2
68634077495. 3
68634077496. 4

Question Number : 75 Question Id : 68634019619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the following arrange the sequence of blood flow in heart according to human circulatory system.

A. Pulmonary Arteries
B. Superior Vena Cava
C. Pulmonary Valve
D. Right Ventricle

E. Right Atrium

Choose the correct answer from the options given below :

1L.ADEBC
2AEDCB
3.B.E.D.C.A
4.B.D.EAC

Options :

68634077497. 1

68634077498. 2

68634077499. 3
68634077500. 4



Question Number : 75 Question Id : 68634019619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HT-d & IGqINER SR & HTAR, 9 P g0 1 I9d-HaTe & HHTER di&d o
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[ )

AEDC. B
3.B.E.D.C.A
4.B.D.E.A.C

Options :

68634077497. 1
68634077498. 2
68634077499. 3
68634077500. 4

Question Number : 76 Question Id : 68634019620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following phases of annual training plan for a foot ball team. in a sequential order.

A, Pre-competitive phase
B. General Preparation
C. Competitive phase

D. Specific Preparation
E. Transitional phase

Choose the correct answer from the options given below :

1.AC.B. D, E

-

.B.D,A, C.E
3 B.D,E.AC
4. A C.E.B.D
Options :

68634077501. 1
68634077502. 2



68634077503. 3
68634077504. 4

Question Number : 76 Question Id : 68634019620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geald ¢l & fau g1 115 FEfaRad artie UiRigun =Rur (o) dieHT &1 pHIIR oaid S

A Widaiar S qd
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=i f4U U fasedl O O el 3R &1 994 Bifoie:

1. ACBDE

22B. DA CE
3.B.D.E.A.C
4 A C.E.B.D

Options :

68634077501. 1
68634077502. 2
68634077503. 3
68634077504. 4

Question Number : 77 Question Id : 68634019621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the number of matches to be played in various types of tournaments arrange the following
statements in a descending order.

. 12 teams are participating in a knock out tournament

. 21 teams are participating i a knock out tournament

. 8 teams are participating in a league cum knock out tournament
. 7 teams are participating in a Round Robin tournament

. 8 teams are participating in a league tournament

Mg

Choose the correct answer from the options given below :

1G: B 1 BoA

J

B, C.A D E

3. DB CA E

4. C,A,D.E. B



Options :

68634077505. 1
68634077506. 2
68634077507. 3
68634077508. 4

Question Number : 77 Question Id : 68634019621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=i f4U U fasedl § ¥ el 3R &1 9094 Bifoie:

10, BB, A

2B CADE
3.D.B.C.AE
4.C.A.D.E.B

Options :

68634077505. 1
68634077506. 2
68634077507. 3
68634077508. 4

Question Number : 78 Question Id : 68634019622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the organizational year of the following Common Wealth Games. arrange them in an ascending
order.

A. Brisbane. Austraila

B. Edinburge. Scotland

C. Christchurch. New Zealand
D. Kingston. Jamaica

E. Kualalaumpur. Malasyia

Choose the correct answer from the option given below :

1.C; InE A B

| B

BAEDC
oA B R D
4.D.C.A.B.E

Options :

68634077509. 1
68634077510. 2
68634077511. 3
68634077512. 4

Question Number : 78 Question Id : 68634019622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 AU Siode Gal &1 390 STaieH aul & STaR 9gd gU o4 1 SIafeyd Bifeig:

A Tore, smecfemn
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10 B B B

J

B.AE.D,C
3.A. B, B, D
4.D.C.A.B.E

Options :

68634077509. 1
68634077510. 2
68634077511. 3
68634077512. 4



Question Number : 79 Question Id : 68634019623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following institutes in ascending order as per their year of establishment.

A. National Sports University, Imphal

B. Sports Authority of India

C. Netaji Subhash National Institute of Sports, Patiala

D. Indian Olympic Association

E. Laxmibai National Institute of Physical Education, Gwalior

Choose the correct answer from the options given below :

1.D.E,C.B.A

-a

E.D,B.C.A
3B AR C
4.E.C.B.A.D

Options :

68634077513. 1
68634077514. 2
68634077515. 3
68634077516. 4

Question Number : 79 Question Id : 68634019623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfeRed Tersil &1 G- -1 & ay & IR 9¢d §U HH H Salyd BIfug:
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1. E. B A

[ B

E.D,B.C.A
3.D.EBABC
4.E.C,B,A,D

Options :

68634077513. 1
68634077514. 2



68634077515.3
68634077516. 4

Question Number : 80 Question Id : 68634019624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two Statement :

Statement I : Complex carbohydrates should be the principle source of calories in the diet.

Statement IT : Carbohydrates have been unfairly implicated as a cause of obesity as in recent years there is
hype associated with low carbohydrate diets.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

J

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077517. 1
68634077518. 2
68634077519. 3
68634077520. 4

Question Number : 80 Question Id : 68634019624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077517. 1
68634077518. 2
68634077519. 3
68634077520. 4



Question Number : 81 Question Id : 68634019625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two Statement :

Statement I : In Sports training. planning is the process of arranging a training program into long and short
phases 1n order to achieve traming goals.

Statement IT : In Sports training. periodization refers to the structure of the annual plan and consists of
training methods and training means.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 1s false

4. Statement I is false but Statement IT is true

Options :

68634077521. 1
68634077522. 2
68634077523. 3
68634077524. 4

Question Number : 81 Question Id : 68634019625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIECICRICACUE A

SY 1: S TR0 S TioH1 dedi & Ud S &1 U Ul ufcrar g forgs ufdieu oried 1 8ic d
e afY & ogafaud fear smar g

YA I1: W Ui § arities dis1 safereRur, wiRieon [l g el & s aR §9H 9 Saiid g
SWRIed BYH & YR A 3T U fapedl O § Yad Iugad Ik &l FHId HIT:

1. BYT1d DY SHI Fel &

2. HYTI T HYT I & Tad e
3. BYTI 98 © YT HYTII 70 &

4. BYT 170D © 9UT BT 11 Tol &

Options :

68634077521. 1
68634077522. 2
68634077523. 3
68634077524. 4



Question Number : 82 Question Id : 68634019626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two Statement :
Statement I : Speed 1s a vector quantity
Statement IT : Velocity is a scalar quantity
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement ITI is false
4. Statement I is false but Statement II is true
Options :
68634077525. 1
68634077526. 2

68634077527. 3
68634077528. 4

Question Number : 82 Question Id : 68634019626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE R AT ATk oA

FYF L: T TP TS (@) A 6l

YT I1: A7 UF e (er) A 6l

SWRIE BYT P TR A4 14 ¢ [l ¥ § Yad Iugad SR &1 H1d ST

1. BYTITPYT IS Tel ol

2. PYFITHYT I SHI Tad gl
3. PYTI Tol ¢ U HYTII 7Tdd ¢

HYT17Ed & U YT 11 I8l &

e

Options :

68634077525. 1
68634077526. 2
68634077527. 3
68634077528. 4

Question Number : 83 Question Id : 68634019627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement :

Statement I : To achieve maximum horizontal range. shot-put tend to have smaller projection angles than high
jump.

Statement IT : To achieve maximum horizontal range. projection speed 1s directed vertically.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| o

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4. Statement I is false but Statement IT is true

Options :

68634077529. 1
68634077530. 2
68634077531. 3
68634077532. 4

Question Number : 83 Question Id : 68634019627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEAIE R 1

HYTL: Sl T i UL Ye-Je J AW B0 HH 5H IR I8 e &fas gt urd axar g
FYF 11: fTHar Afas T &1 U 3= & g v nfa & dead e g g smar g1
SQRIE DY B TR A 14U U [l O § gad Iugad SR &1 IH1d HITI:

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g

L]

HYT [ el & dUT PYUT 11 TTad g |

 PYTITTAd & dUT HYF 11 Fal ol

.

Options :

68634077529. 1
68634077530. 2
68634077531. 3
68634077532. 4

Question Number : 84 Question Id : 68634019628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement ;

Statement I : A positive correlation exists between two variables when a small value of one variable is
associated with a small value of another variable.

Statement IT : A negative correlation exists between two variables, when a large value of one variable is
associated with a large value of another variable.

In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is frue but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634077533. 1
68634077534. 2
68634077535. 3
68634077536. 4

Question Number : 84 Question Id : 68634019628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 a1 By fau Y §- _

Y L: 3 R P o9 T G5-HGY ORI TGS 81 6. 5d [P TR B A TH R R P ag I
Hafd g gl

YA L &1 R D d19 H THRIAD Tgdae HI9E o/d] 5. oid Uh @R &I ged HH GO R & §od-0- 4
REIRREERIN

SUWRIEd HY & 3UR -4 fGu U fasedl § 9 9e8 Jugad TR &I J-1d BT

1. YT 1T HYF 1L S el §

2. FYT 19 HYT I SHT T B

3. BYTI TSI g qUT PYT 1 T & |

4, BYTITTAd & dUT HYF 11 Fal ol

Options :

68634077533. 1
68634077534. 2
68634077535. 3
68634077536. 4

Question Number : 85 Question Id : 68634019629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement ;

Statement I : The head of state of the host country gives the declaration of the opening of the Olympic
Games.

Statement IT : The IOC president gives the declaration of the closing of the Olympic Games.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077537. 1
68634077538. 2
68634077539. 3
68634077540. 4

Question Number : 85 Question Id : 68634019629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAEAIC R

HYF I: HOlgH S8 D 50 BT WG s Tdl & Fgare i Hul Sl g
FY I1: TS, 3. I, BT Heme afs Wal & AT S 919 S g
SRI DY B IR A 4 U [l O § gad Iugad SR &1 H1d HITIT:

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g

3. Y198l & dUT YT I TTad ol

4, BYTITTAd & dUT HYF 11 Fal ol

Options :

68634077537. 1
68634077538. 2
68634077539. 3
68634077540. 4

Question Number : 86 Question Id : 68634019630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two Statement :

Statement I : The height of the hurdle in 400 m hurdle race for men is 0.838 m

Statement IT : The height of the hurdle in 110 m hurdle race for women is 0.762 m

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement IT is mncorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634077541. 1
68634077542. 2
68634077543. 3
68634077544. 4

Question Number : 86 Question Id : 68634019630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyE R E-

HYT 1 TO01 B 400 1. G50 al5 ¥ 500 @I HdTs 0.838 11 Sl B

HYA 11 Afearsii @t 110 T sSa S H gd Bt HIE 0.762 1. Bt B
SWRIE DY P YR A 14 ¢ [l ¥ § gad Iugad SRk &1 IH1d ST

1. YT 1T HYF 1L S el §

2. BYTITFYT I SHI Tad g
3. @Y1 9el & dUT YT I TTad o

4, BYT17TAd & dUT HYF 11 Jal ol

Options :

68634077541. 1
68634077542. 2
68634077543. 3
68634077544. 4

Question Number : 87 Question Id : 68634019631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the events of Ancient Olympic Games.

A, Stade Race
B. Horse Chariot Race
C. Decathlon
D. Pentathlon
E. Swimming

Choose the correct answer from the options give below :

1. A.B. D only

[

.A . B.Eonly
3.A.D.E only
4. A. C.E only
Options :
68634077545. 1
68634077546. 2

68634077547. 3
68634077548. 4

Question Number : 87 Question Id : 68634019631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mefafad 8 9 oF 9t = siafis o ufagid -

A WSS
B. UISIRY EIS
C. SHIYdT
D. U=e1ya-
E. 1!
=i f4u U fasedl § U ol 3R &1 994 B
1. Hdd A, B.D
. HAdA.B.E
3. PdAA.D.E

4. PAA A, C.E

J

Options :

68634077545. 1
68634077546. 2
68634077547. 3
68634077548. 4



Question Number : 88 Question Id : 68634019632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are traditional philosophies.

A, Idealism

B. Aesthetics

C. Pragmatism
D. Axiology

E. Existentialism

Choose the correct answer from the option given below :
1. A. C. D only
2.A.B.Conly
3.A.D.E only

4. A. C.E only

Options :

68634077549. 1
68634077550. 2
68634077551. 3
68634077552. 4

Question Number : 88 Question Id : 68634019632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=, o

FEfefad § 9 o1 9 WORATd SR o

A. 3TERiarg

B. Tiet fovas (twafe®)
C. FdeRdlg

D. HegHHEI (Uesiigiis)
E.

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.9dd A, C.D
2. $dU A, B.C
3. HdU A, D. E
4. AT A, C.E

Options :
68634077549. 1
68634077550. 2



68634077551.3
68634077552. 4

Question Number : 89 Question Id : 68634019633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arousal. Stress and Anxiety can be explained through the following theories.

A. Inverted U hypothesis

B. Zone of Optimal Functioning (ZOF)
C. Catastrophy Model

D. Humanistic Approach

Choose the most appropriate answer from the options given below :
1. A.B and D only
2. A.Band C only
3.A.CandD only

4. B, C and D only

Options :

68634077553. 1
68634077554. 2
68634077555. 3
68634077556. 4

Question Number : 89 Question Id : 68634019633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefalaa Rigral & gRI a-1d & a1 &t S &1 aara &1 off T&dl 6-
A.$-4cS U greuidiRge
B. Sl[H 3% HPHA BB
C. FEE®l Hled
D. §gH® U
i feu U fas el § ¥ 998 Iugad Ik &1 IH1d HIIU:

1. 9dd A.BdD
2. $adA.BdC
3.Pa0A. CTD
4.9au B, CdD

Options :
68634077553. 1



68634077554. 2
68634077555.3
68634077556. 4

Question Number : 90 Question Id : 68634019634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the Bio-chemical changes in the muscles due to hypertrophy?

A. Amount of Myoglobin and glycogen mereases
B. Oxidation of Carbohydrates and Fats increases
C. Amount of connective tissues mcreases

D. Capillary density per fiber also increases

Choose the most appropriate answer from the options given below :

1.C & D only
2. A& Donly
3.B & Conly
4. A &B only

Options :

68634077557. 1

68634077558. 2

68634077559. 3
68634077560. 4

Question Number : 90 Question Id : 68634019634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U=fig sifdafE & PR F=Ed & 3 oF 3 Sda-a-e agae AeuREl § 781 81 -
A. TR e g Tergiele- & 5 H gig
B. Plalglsgcy d ¥ & MU 1 gig
C. Yl S| I O © dgiak
D. Wi IR HiRepT ue § Fglar!

e fau U fae el & 9 9et 3R &1 99 DIy
1. Pad CcdD
2. PAIATD
3.HGABAC

4. PATAAB

Options :




68634077557. 1
68634077558. 2
68634077559. 3
68634077560. 4

Question Number : 91 Question Id : 68634019635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with regard to daily energy requirements?

A. Proteins are major source of energy

B. For every kg. of body weight 1.3 calories of energy is required every 24 hrs.
C. 25% of fat 1s required in the diet.

D. Approximately 60% of energy shall come from carbohydrate

E. The consumption of excess fat, prior to exercise increase the performance.

Choose the correct answer from the options given below :
1. A& B only
2.B & Donly
3.C & E only
4. A& E only

Options :

68634077561. 1
68634077562. 2
68634077563. 3
68634077564. 4

Question Number : 91 Question Id : 68634019635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ufafea St @t snavgsdl & deH § o1 4 $U Jal o-

A WIEH ol &1 ygd 9id §

B. U@ 24 U0¢ § RIS YR & S [Hal IH &I 1.3 FAR! ol &I Sagad gl ol
C. 3MER & 25% TUI DI I Hdl sl &

D. T 60% Sl plalglggcd d Hed g

E. SO 9 U8 A% 991 &1 Ja- et &l el g

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.$dIATB
2. $ddBdD
3. PdACTE

4. HAAATE only

Options :

68634077561. 1
68634077562. 2
68634077563. 3
68634077564. 4

Question Number : 92 Question Id : 68634019636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the statement 1s NOT true regarding sports training?

. Sports training is performance oriented

. Sports training 1s uncontrolled process

. Sports training is to develop the capacities and capabilities of sport person
. Sports training shall be identical for all individuals

. Tramning effect will reserve itself if there 1s no continuity

(g5 e R Wil v o [~

Choose the correct answer from the options given below :

1. A& Conly
2.B & D only
3.C & E only
4. A&E only

Options :

68634077565. 1

68634077566. 2

68634077567. 3
68634077568. 4



Question Number : 92 Question Id : 68634019636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| Ui & oW # 9 1 § B 91 YA I T8l 6-

A. Wd UiRE0r uE e 3l gidl 6|

B. o uf¥remnn ufeean eifdfad gidt 21

C. 9d ufdrem ot faars! &1 aradn 9 eaar &1 fosiid s g,
D. Wa-Hierenr gyt aafeadi o feiw 99= g

E. URI&701 & UuTa ifHd 81 od § afe FRaar T il

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.$daATC
2. HdIBdD
3. PdACTE
4. PATATE

Options :

68634077565. 1
68634077566. 2
68634077567. 3
68634077568. 4

Question Number : 93 Question Id : 68634019637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In decathlon, which of the following events are performed in day I

A. Discus throw
B. Long Jump
C. Javelin throw
D. High jump

E. Pole vault

Choose the correct answer from the options given below :

1. A. B only

| )

. C,E only
3.B.D only
4. A. C only
Options :

68634077569. 1
68634077570. 2



68634077571.3
68634077572. 4

Question Number : 93 Question Id : 68634019637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sohyel H FEfeRad & 4 o1 A ufadifiar yus 137 $1 ot &-

A fempa Ul
B. Wl §g
C. Siafer i
D. $dl &g
E. id dlec

=i feu e Al # ¥ Tel ST &1 994 Bivie:
1.$dIATB
2. $dUCTE
3.%dd BAD
4. PAYATC

Options :

68634077569. 1
68634077570. 2
68634077571. 3
68634077572. 4

Question Number : 94 Question Id : 68634019638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
NEMEAN GAMES | 1. JOLIVE LEAVES WREATH|
PYTHIAN GAMES | II. |PINE LEAVES WREATH
OLYMPIC GAMES |1 BAY LEAVES WREATH
[STHMIAN GAMES| IV. [WILD CELERY WREATH

R

Choose the correct answer from the options given below:

1. A-IV, B-II, C-1, D-ITI

-2

CA-IV, B-IIIL C-I. D-II

Lad

. A-IL B-IIL C-I, D-IV

4. AL B-II. C-1, D-IV



Options :

68634077573. 1
68634077574. 2
68634077575. 3
68634077576. 4

Question Number : 94 Question Id : 68634019638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 151 gt 11 ¥ gt

g 1 T I
A da | 1 [oldd & ol &1 Amen
T Ed | I [GaaR & Ui S Amd]
ATEEyE W | 111 [§ & ol &t g1l
g W | 1v. [Sielt ol &f A

1= f3u U fam el § 9 Hgl SR @1 99 DI

1. A-IV. B-II. C-1. D-ITI

PR EE

-

CA-IV, B-IIIL C-1. D-II
3. A-II. B-1IIL C-I. D-IV
4. A-I11, B-1I. C-I, D-IV

Options :

68634077573. 1
68634077574. 2
68634077575. 3
68634077576. 4

Question Number : 95 Question Id : 68634019639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Realism I. [Experience
B. [Pragmatizsm II. [Self direction
C. [[dealism I11. |Scientific Evidence
D. [Naturalism IV, |Values & Ideals

Choose the correct answer from the options given below:

1. A-I. B-1I., C-IV, D-ITI

-2

A1 B-1, C-II, D-IV
3. A-II1, B-1. C-IV. D-II
4. A-I. B-IV, C-III, D-II

Options :

68634077577. 1
68634077578. 2
68634077579. 3
68634077580. 4

Question Number : 95 Question Id : 68634019639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy
Gelb! T 11
A [guarg L |orra
B. [@dgRale | I [d-eriee
c lomeziae | [qwfe gam
D. [Uidar IV. [ 3R e

AR fa®edl § I 98l 3o’ &1 99 Dol :

1. A-I, B-IL. C-IV. D-III

| =]

AL B-1. C-I1, D-IV
3. A-IIT, B-1. C-IV. D-IT
4. A-I. B-IV, C-III. D-IT

Options :

68634077577. 1
68634077578. 2
68634077579. 3
68634077580. 4



Question Number : 96 Question Id : 68634019640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Melancholic Personality] I |[Extrovert - Neurotic
Sanguine Personality II. [Extrovert - Stable
Choleric Personality [T |Introvert - Stable
Phlegmatic Personality | IV, |[Introvert - Neurotic

ofofw[=

Choose the correct answer from the options given below:

1. A-IV, B-I11. C-1. D-II

-2

AL B-ILL C-IL, D-IV
3. A-III, B-IV. C-1. D-II
4. A-IV, B-II. C-I, D-III

Options :

68634077581. 1
68634077582. 2
68634077583. 3
68634077584. 4

Question Number : 96 Question Id : 68634019640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy

A1 T 11
Go iddd | [ [efeqd fafd
HIRITETG! Afdded] L [sfeadl FRR
rrefael anfaaa | 11 [sidgwet R
g& Afadd | IV [HarwE falam

AR fa®edl § I 98l 3o’ &1 99 Dol :

1. A-IV. B-III. C-I1. D-II

ofo]w]=

| =]

AL B-IIL C-I, D-IV
3. A-IIT, B-IV. C-1. D-IT
4. A-IV, B-II. C-I. D-III

Options :

68634077581. 1

68634077582. 2
68634077583.3



68634077584. 4

Question Number : 97 Question Id : 68634019641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Short Bone I. |[Vertebrae
Flat Bone II. |Patella

Sesamoid Bone| 11 [Carpals
. |lrregular Bone | IV. [Pelvis

o] Fo] o] g

Choose the correct answer from the options given below:

1. A-IIIL. B-IV. C-II. D-1

| B

. A-IIL B-IV, C-III. D-I
3. A-IIT, B-II. C-IV. D-I
4. A-I1, B-III, C-IV. D-I

Options :

68634077585. 1
68634077586. 2
68634077587. 3
68634077588. 4

Question Number : 97 Question Id : 68634019641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 g 11 ¥ e Sife

Tqa I T I
BEEIG) 1 [HEgus
el HRY 11 [OCel (g2 Bl 3{12)
OEES A 11 [FRUE (s B HRY)
Hiar R | v [oferg @ @1 oY)

TR fa®edl § I T8l 9wk 1 99 Do ;

1. A-IL. B-IV. C-II. D-1

ofo[w[s

| o]

. A-ITL B-IV, C-TI1. D-I
3. A-II1, B-II. C-IV, D-I
4. A-I1. B-III. C-IV, D-I

Options :
68634077585. 1



68634077586. 2
68634077587. 3
68634077588. 4

Question Number : 98 Question Id : 68634019642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
. |Flexion 1. |Kicking the Ball
Extension II. |Curling up by Dumbbell

Abduction I11. [Leg Splitting
. |Circumduction | IV. [Bowling in Cricket

o] Fo] [o=] =g

Choose the correct answer from the options given below:

1. A-II. B-III, C-I. D-IV

| B

.A-IIL B-1, C-III, D-IV
3. A-L. B-II, C-IIT, D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634077589. 1
68634077590. 2
68634077591. 3
68634077592. 4

Question Number : 98 Question Id : 68634019642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-I11. C-I. D-IV

2. AL B-1, C-1I1, D-IV

3. A-L. B-II, C-1II. D-IV

4. A-IV. B-III. C-II. D-I



Options :

68634077589. 1
68634077590. 2
68634077591. 3
68634077592. 4

Question Number : 99 Question Id : 68634019643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
. |Analytical Research I |Ethnographic Studies
Qualitative Research | II. [Philosophical Studies
Descriptive Research | 111 [Cause and Effect Relationship
. [Experimental Research| IV, [Normative Surveys
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Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV, D-1

| B

. A-ITL B-1, C-IV. D-IIT
3. A-IL. B-IV, C-I. D-III
4. A-IV, B-11, C-III. D-I

Options :

68634077593. 1
68634077594. 2
68634077595. 3
68634077596. 4

Question Number : 99 Question Id : 68634019643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IT. B-III. C-IV. D-1
2. A-TLL B-1. C-IV. D-III
3. A-IL B-IV. C-1. D-III
4. A-TV, B-11. C-II1. D-I

Options :

68634077593. 1

68634077594. 2

68634077595. 3
68634077596. 4

Question Number : 100 Question Id : 68634019644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A e Donald skill test I. |Cardio vascular fitness
B. [Helman test battery II. Motor fitness
C. |Queen college step test] [I1. [Volley Ball
D. [ICE. test battery IV. |Soccer

Choose the correct answer from the options given below:

1. A-II. B-I1I, C-I. D-IV

| B

. A-IV. B-1, C-II. D-III
3. A-IV. B-III. C-1. D-IT
4. A-I. B-IV, C-I11, D-IT

Options :

68634077597. 1
68634077598. 2
68634077599. 3
68634077600. 4



Question Number : 100 Question Id : 68634019644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 Tl 11§ fiar iy

Tl 1 T I
_ [FpsFIcs ®d wdign] 1 [gegdries gip
RTH TRI&0T s 1. [THe& gfF
@ dicie w4 uam |1 [alediEd
S8 R gdigueed [ 1v. [@ieR (pean)

glo|w=]=

=, o [ s,

HEaRad [dsedl § 9 9gl 3Tk &1 994 Bifoil

1. A-IT. B-III. C-I. D-IV
2. ATV, B-1. C-I1. D-III
3. A-IV. B-1II. C-1. D-II
4. A-1. B-IV. C-I1I, D-II

Options :

68634077597. 1

68634077598. 2

68634077599. 3
68634077600. 4



